Consolidation work 29 Second Level ***

1.  7.2 + 5.67 + 30.4

2.  9300/300

3.  0.7 x 4000

4.  75% of £46.40

5.  5/9 of 7272mls

6.  Write 2% as a decimal and a fraction.

7.  34g = ____ Kg?

8.  The farm has 2 cows for every 7 hens. There are 21 hens. How many cows are there? 

9.  Simplify 6:42

10.  1 adult ticket for Winter Wonderland cost £45.23. How much for 3 adults? 

11.  Round 2009.148 to two decimal places. 

12.  9 – 23

13.  4n + 5 = 21

14.  What is the missing angle in this triangle: 50 degrees, 25 degrees and ??

15.  What is 6 squared plus 5 squared? 

16.  What is the area of a rectangle with: l = 5.7cm and b = 7cm? 
17. If the diameter of a circle is 32cm, what would the radius be? 

18.  How many degrees are there in a four sided shape?

19.  Susie bought 3 pencil cases costing £13.77. How much would one cost?

20.  5298 + 2577 

